@ f{ @ e = EROHI(BOER)
L Bl 237
70+ (-5) = (-3) ) -8 =

(—3) D +(-7) = (—6) D + (=1) =

1002 +6= (-8) D +5=

(7P +6= (~10) — (~4) =

7 —10= 100D +7 =

£ +(-1)= (-2)h -9 =

8+ (D= 2D +3=

34 (-8) = (-2 +(-9) =

D+ (2)= (9P (-9 =

(-3 -8= ==

www.snowmath.com


https://www.snowmath.com

T
OAVeE IR OB O
BED AI(C5: A7
34 6 71 8
D4 (—5)y= (=22 = (—4— N g = (=)= (—7=
704 (=5) = (-2) = (42) (-3) (~5)=(T5)

D o 28 PN RN N |
D= ()= (65 O D= ()= (1)

1072 + 6= % = 6% (—8) D +5= % = 4%

7P +6= % = 6% (—10)7 — (—4) = % = 4%0
7210 = 39 1o<‘1>+7:%:7%
215 (DN =9=(-2) = (-95)
B+ == (1) 2 V3= T3]

()= | D49 = (-3) = (-95)
) +(=2) = (-1 9= (-9 = 7;—10 = 98%
(H V8= (=T (-3

www.snowmath.com


https://www.snowmath.com

